

A C C

Office of the Academic Senate • O

- 02-4

 A_{i} , A_{i} , A

- $(\mathbf{y}_{1}, \mathbf{y}_{2}, \mathbf{y$
- $A_{i}, a_{i} \in C, \quad A_{i} \in A_{i} \in S = A_{i}, \quad A_{i} \in C, \quad A_{i} \in A_{i}, \quad A_{i} \in C, \quad A_{i} \in C, \quad A_{i} \in C, \quad A_{i} \in A_{i}, \quad A_{i}$
- (1, 1) = (1, 1) + (
- $[\mathbf{x}_{i}]_{i} = \{\mathbf{x}_{i}, \mathbf{y}_{i}\} = \{\mathbf{$
- - $\mathbf{S}_{(1)} = \mathbf{I}_{(1)} + \mathbf{I}_{(2)} + \mathbf{I$
 - $\mathbf{A}_{\mathbf{b}_{1}} = \left\{ \begin{array}{cccc} \mathbf{A}_{\mathbf{b}_{2}} & \mathbf{A}_{\mathbf{b}_{2}} &$
 - chigh a part of the second destance of the many constraints
- $\mathbf{SS} \cdot \mathbf{S} \cdot \mathbf{S} = \mathbf{S} \cdot \mathbf{S} + \mathbf{S} +$